Moto-All.ru

CITMCOK OETAJIEY NIJ19 "STEERING STEERING POST ASM. -

A13ZN8EFK EFN" POLARIS A13ZNS8EFK EFN SPORTSMAN FOREST 850

/[WWW.OEM.MOTO-ALL.RU/
TEJIL.: +7 (495) 177-12-75




CITMCOK OETAJIEY NIJ1d "STEERING STEERING POST ASM. -

A13ZN8EFK EFN" POLARIS A13ZNS8EFK EFN SPORTSMAN FOREST 850

/[WWW.OEM.MOTO-ALL.RU/
TEJIL.: +7 (495) 177-12-75

1 1824007 CpoK IoCTaBKM OT 27 OHeH ASM-TIE ROD
1 1823620 Cpok noctaBku 0T 19 mHeit ASM-TIE ROD
2 1823781-329 CpoK IoCcTaBKM OT 27 oHeH WELD-STEERING POST
3 7061175 CpOK 1I0CTaBKH 0T 27 fHeU ROD-END
4 7547452 Cpok mocTaBKM 0T 27 oHel NUT-JAM
5 5136903 CpOK TIIOCTaBKH OT 27 [HEH ROD-TIE
6 7547451 CpOK II0CTaBKH 0T 27 [IHel NUT-JAM
7 7061174 Cpok IocTaBKM 0T 27 oHel ROD-END
8 7556153 CpoK IoCTaBKM OT 27 OHeH WASHER
9 7661205 CpoK 1IoCTaBKH4 0T 3 gHEH PIN-COTTER(10)
10 7547333 CpoK IoCcTaBKM OT 27 OHeH NUT-M10X1.25
. BRKT-UPPER
11 5249143 Cpok noctaBku 0T 19 fHel STEERING BUSHING
. BUSHING-UPPER
12 5438904 CpoK 1oCTaBKH 0T 27 [He# STEERING
13 7518479 CpoK IoCTaBKM OT 27 OHeH BOLT-M8X1.25X20
14 7547317 Cpok noctaBku 0T 19 mHelt NUT-M8X1.25
. BOLT-M8X20-1.25 HX
15 7518450 Cpok IocTaBKM 0T 27 oHeH HD FLG
16 1823771 Cpoxk mocTaBku oT 19 fHel KIT-STEER POST
. ASM-POWER
17 2412281 Cpok noctaBku 0T 19 nHeit STEERING ATV
. BRKT-POWER
18 5254633-329 CpoK IoCcTaBKM OT 27 OHeH STEERING
19 7547274 CpOK 1I0CTaBKH 0T 27 fHeU NUT-M6 FLANGE
20 7081498 Cpok mocTaBK# 0T 27 oHel LOCK-STEERING
21 5253167-329 CpoK IoCTaBKM OT 27 OHeH BRKT-FRONT DRIVE
22 7516827 Cpok noctaBku oT 19 mHelt SCREW
23 7518558 Cpok noctaBku oT 19 nHen BOLT-M10X1.25X20
. SCR-M5X.8X10 TX BTN
24 7518457 CpOK 1I0CTaBKH OT 27 [HeU PIN-IN-HD




